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Maths Questions for CLAT Exam. 
 

CLAT Maths Quiz 17 
 

Directions : Study the following information carefully and answer the questions given 
beside. 
 
On Monday, total 625 people went to see a program in a Circus. The number of adult males 
who watched Circus was 200% more than the number of male children, while the number of 
adult females was 50 more than the number of male children, and the number of female 
children was 25% less than that of male children. 
 
1. Total adult males who watched circus is what percent more than adult females? 

A. 120%   B. 150%   C. 100%   D. 110% 
 

2. Find the average of the number of male children and adult females who watched 
Circus.  

A. 125    B. 115    C. 120    D. 126 
 

3. Find the ratio of number of adult males to the number of female children who 
watched the Circus. 

A. 3 : 2    B. 4 : 1    C. 3 : 1    D. 5 : 4 
 

4. Total children who watched Circus is what percent of the number of adult males?  

A. 56 
1

3
 %   B. 52 

1

3
 %   C. 54 

1

3
 %   D. 58 

1

3
 % 

 

5.  If b% people from adult females and male children respectively are not allowed to 
watch the Circus, the number of adult females and male children combiningly 
decreases by 25. Find the value of b. 

A. 12    B. 14    C. 15    D. 10 
 

6. Find the ratio of the total number of males to that of females who watched the circus. 

A. 16 : 9   B. 16 : 7   C. 14 : 9   D. 14 : 5 
 

7. The number of male children was what percent more than that of female children 
who watched the circus? 

A. 25    B. 33.33   C. 35    D. 37.5 



 

 

8. Find the difference between the number of adult males and the number of adult 
females who watched the circus. 

A. 100    B. 120    C. 150    D. 140 
 

9. If 10% of the male children and 20% of the female children were of the age of 4 years 
or less, what percent (approx) of the children were above the age of 4 years? 

A. 64    B. 54    C. 56    D. 86 
 

10.  If the ticket price for each child was Rs. 10 and each adult was Rs. 20, find the total 
amount (in Rs.) collected on Monday. 

A. 11,520   B. 10,250   C. 12,000   D. 10,750 
 
 
 
 
 
 
Correct Answers: 
 

1 2 3 4 5 6 7 8 9 10 

C A B D D A B C D D 
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Common explanations : 
 
Total = 625 
 
Let the number of male children be 100 
 
Number of adult males 
 

= 100 +  
100 × 200 

 = 300 
100 

 
Number of adult females = 100 + 50 = 150 
 
Number of female children 
 

= 100 –  
100 × 25 

 = 75 
100 

 
Total = 100 + 300 + 150 + 75 = 625 
 
625 = 625 
 
So the values taken are true. 
 
So, 
 
Number of adult males = 300 
 
Number of adult females = 150 
 
Number of male children = 100 
 
Number of female children = 75 
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Explanations : 
 
1.   From common explanation, we have 

 
Number of adult males = 300 
 
Number of adult females = 150 
 

Reqd. % =  
300 – 150 

 × 100 = 100% 
150 

 
Hence, option C is correct. 

 
 

2. From common explanation, we have 
 

Number of male children = 100 
 

Number of adult females = 150 
 

Reqd. average =  
100 + 150 

 = 125 
2 

 

Hence, option A is correct. 
 
 

3. From common explanation, we have 
 

Number of adult males = 300 
 

Number of female children = 75 
 

Reqd. ratio =  
300 

 = 4 : 1 
75 

 

Hence, option B is correct. 
 
 

4.   From common explanation, we have 
 

Total number of children = 100 + 75 = 175 
 

Number of adult males = 300 
 

Reqd. % =  
175 × 100 

 = 58 
1 

 % 
300 3 

 

Hence, option D is correct. 



 

 

5. From common explanation, we have 
 
Number of adult females = 150 
 
b% not allowed, adult females not allowed 

= 150 ×  
b 

 = 1.5b 
100 

 
Number of male children = 100 
 
b% not allowed, male children not allowed 

= 100 ×  
b 

 = b 
100 

 
People not allowed = 1.5b + b = 2.5b = 25 = b = 10 
 
The value of b is 10 
 
Hence, option D is correct. 

 
 

6. From the common explanation, we have 
 
Total number of males = 300 + 100 = 400 
 
Total number of females = 150 + 75 = 225 
 
Reqd. Ratio = 400 : 225 = 16 : 9 
 
Hence, Option A is correct. 

 
 

7. From the common explanation, we have 
 

The number of male children = 100 
 
The number of female children = 75 
 
Reqd. % = (100 – 75)/75 × 100% = 33.33% 
 
Hence, option B is correct. 
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8. From the common explanation, we have 
 

The number of adult males = 300 
 

The number of adult females = 150 
 

Reqd. Answer = 300 – 150 = 150 
 

Hence, Option C is correct. 
 
 

9. From the common explanation, we have 
 

Male children more than 4 years old = (100 – 10)% of 100 = 90 
 
Female children more than 4 years old = (100 – 20)% of 75 = 60 
 
Total children more than 4 years old = 90 + 60 = 150 
 
Total number of children = 100 + 75 = 175 
 
Reqd. % = 150/175 × 100% = 85.71% 
 
Hence, Option D is correct. 

 
 

10. From the common explanation, we have 
 

Total number of children = 100 + 75 = 175 
 
Total number of adults = 300 + 150 = 450 
 
Total amount collected = 175 × 10 + 450 × 20 = Rs. 10,750 
 
Hence, Option D is correct.     
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